R\ - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Horizontal Slider\FL-16092.1-.6.dwg, FL-16092.5

\J R
WINDOWS & DOORS

250 Staunton Turnpike, Parkersburg, WV 26104

8800 Series

Vinyl Horizontal Sliding Window

"IMPACT"

GENERAL NOTES

1. This product has been evaluated and is in compliance with the 2010 Florida
Building Code (FBC) structural requirements excluding the "High Velocity

Hurricane Zone" (HVHZ).

2. Product anchors shall be as listed and spaced as shown on details. Anchor !

™

112" MAX. O.A. FRAME WIDTH

50.5" MAX. D.L.O. WIDTH

63" MAX. O.A. FRAME HEIGHT

55" MAX. D.L.O. HEIGHT

Documents Prepared By:

BUILDING CONSULTANTS, INC.
P.0. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197

Ry

Florida Board of Professional Engineers

-

Authorizatjon No. 9813

Certificate OZ

22,3

.

Lyndon F. Schmidt, P.E. No. 43409

PRODUCT:

8800 SERIES

PART OR ASSEMBLY:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

embedment to base material shall be beyond wall dressing or stucco.

3. When used in areas requiring wind borne debris protection this product
complies with Section 1609.1.2 of the FBC and does not require an impact
resistant covering. This product meets missile level "D" and includes Wind Zone 4

as defined in ASTM E 19926 and Section 1609.1.2.4 of the FBC.

4,  For 2x stud framing construction, anchoring of these units shall be the same as

that shown for 2x buck masonry construction.

5. Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevations, design pressures and general notes

Horizontal cross sections

Vertical cross sections

Buck and frame anchoring

Components

oUW —

Bill of materials & glazing details

XOX SHOWN
XXX ALSO APPROVED

110.0" X 62.0" 49.5" X 54.0" Gl +45.0 -45.0
112.0" X 63.0" 50.5" X 55.0" G2 +50.0 -55.0
112.0" X 63.0" 50.5" X 55.0" G3 +60.0 -65.0

LFS
BY

REVISIONS

4/04/13 |UPDATE FRAME SIZE/DP/GLZ

—

=
<
a
o
Z
2

DATE: 12,/05/'1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—16092.5

SHEET ] OF 6

© 2012 R.W. BUILDING CONSULTANTS INC.



TON| BANVLUIMSNOD aNiGINg 'M'd 2 L0Z 5

—— parervey OISIATY
60vCH 'ON ‘I'd “IPRUYDS ‘4 uopu SNOILD3S SSOYD 5 SN o P 5
5022 /5 £, TWINOZIOH N slelo] 2l
o186 on uollornonay f swounien : S41 Z19/40/32IS INWvEd 31¥adn| £1/40/% | t [~ I
sisaubuy |DUDISSSI0.4 JO pIDOH DPLIO|4 SATENASSY M0 Lyvd % N - m o
, LELB'6GO'CLE TON auoyd W . g ~ 2_
GBESLE 14 ooMIbA QEZ xog .o_u\h\wg - ElEle |M._
"ONI "SINVIINSNGD ONIGING SIRAS 0088 Wil | |ER |G
iAg peJpdaig Ssjuawnocq 10ON00odd 3 m 2515 %
Lt
O
™
o ______s_._
b -
O wn ]
—
O
) a
o o~ o>
~ mw S
G .\___._— o m
— UlE
&) w @\l\ ..A.. 2
m I7]
Za g
G o == Ols
= L= Nic
o~ X B
-3 (o]
T o — W o
e

7“4 "\ HORIZONTAL CROSS SECTION

™)
)
[ ]
)
# ) >
9]
|
)
~ = w b
(7]
— L)
J Q
[-=4
o
) =~
=
o
N
0
# o~ <r O
x
[a™4 078
o
N : S
0= £
& #
G [F2]
: ©
o~ =
© O
|
O :
[T
L 7]
N Q 9
O
@k
= 0 500 e
O _ 35
S
[--]
Qlo
TS
mw

BY4
Q
=
o — fa]
Za < i
=E ] 0% 2 ~
*s (0 2
2 3
— i Q
£
4 g - 'y &
_ .v.. .W * .ﬂ. v. -
/f/ﬂ,...,/
!
| X
/»zﬁh/,.,
IIUI:IM/“M.IJ/
i
]
«” — T
[ /ﬂ/ﬁ,
-Vﬂ‘_rlt :O_. m
mm S oo
Zao
X e
3
s -
V /ﬂ:.../.., H e
—|eN o~
|/

§'Z ‘BMPO-TZE09T- TIPS [RILOZUOMNELIT 4d\0OLT - TOIT 014\S13P|04 1al0INSDB0I - WAy



CONE BANYLINBNOD ONIQTNE "M'8 2102 @

. I "Ipiw 'y uopuk
Mm\o*.nq n”z Td PSS 4 uopud) SNOLDTS SSOND SNOISIAZY .

1225 AL WOILYIA A8 Vg JONIS| | o] 2]
c1a6 on Logorsouthy 30 8105180 S41 Z19/d0/3ZIS 3WVY4 3I¥adN| £1/50/% [ 1IN ||| &
ssaowbuy PuOISSHIOLY JO PIDOE DPLO|4 SATHWISSY 40 Lddvd % = - ] 5

L6LB'6S9'CLE 'ON suoyd | g 2 3_
SBEET 14 OIUIBA DSZ XOH .odé@. X BlEle |
*INI 'SINVITNSNOD ONIGIING S31¥3S 0088 gl|9lgly £ g
:Ag pesodald sjuswinoog “10Naodd W w gl 3 W M
™
= O . [dAl) awa
., (dAl) awa 0 m &) NIW /-t
NIW /L ™ a
O o))~ () (F
— % o)
Wz = .| Z
Zl O Z . Q
_- . ' =
E / = _..C.. T : n....m Py
w ® &y 1751 [
y [ % 8% ¥ | e S|E
A = ac m ¥ oo " o) o
) [ O < 5 ’ e L ® .,..m_
- 35 - | . 3
v c c W . .ﬂ Y c o]
' ¥ [ —..-Ih - o o = £
o D / = ﬂm = D RS o w
9 ” [~=] v w n WO - vq._v ‘ V %
; o~ oz _U )
S AU o mw
i i
by ! o~
wn T
— - +] ~0 Ly ) o
7 o]
0 23
V| 2z
Va ;
) s
p—
™
o O ("dAL) '8wW3 _,
- {"dAL) "aw3 ) m NIW /171
NIW P/ 11 o~ —
o/ _ (@)(=)(~ (=) (=) (u)(=
~ T~ — ”
/J\/ = E)(F)(e) (&)(F) (o 2 g
) 4‘._‘ oy W Lo T
fu. aq : = - .q,v ev m
4.:. . 44., \ = — v.v,..‘v‘q.q m”
v- B A C
. . I re}
- B | 2
4 " .aa £y . . P "\\“ Y4
= Q3
=t ) —] Co 5l
q b -] - ° =
_HM . P o e [N
< v = e VOO L or ” W
LI w| e
: ] C ) R -
R .
o 3
i |
5 (e g @@
- (]
© OO0 @E @ :

S'E ‘BMP9-TZB09T-14\PYS [BIUOZUOHNGLIT Jd\DOLT - T09T fold\sIapIod 1afoid\s1afold - vy



.

{TYP.)

O.C. {TYR.)

MEETING STILE
2"
_ . T (TYP.)
‘-‘!.“;T~_~: }H} 1 { =HI
e || H
S Il [ .
A || I =
PR 1 1
il I I
o I I
BUCK Il [
N l I
MASONRY 1 i
OPENING 1 i
T || H i
" Il K <
b <€
i H I =
N I I
o [Ty g Ly iy ;
BUCK ANCHORING

CONCRETE ANCHOR NOTES:

1. Substifution of equal concrete anchors from a different supplier may have
different edge distance and center distance requirements,

2. Concrete anchor locafions at the corners may be adjusted to maintain
the min. edge distance to mortar joints. If concrete anchor locations
noted as "MAX. ON CENTER" must be adjusted to mainfain the min, edge
distance to mortar joints, additional concrete anchors may be required to
ensure the "MAX. ON CENTER" dimensions are not exceeded.

3. Concrefe anchor table:

W 174 1-1/4 2.1/ 3

ELCO 7 1-1/4" " P

- 5.5"
{TYP.)

MEETING STRLE
| 47
—-—'— 7"
e T 30L.
. .- e ".' . ‘/4—-t ’-‘— (TYP-}
==
I}
I
|
?
I (TYP. @ HEAD) N
_ I (F)2xBuck i
2X BUCK “
o 1X BUCK DIRECT TO

orecto |1 (K MAsONRY I

masongy || (TYP.@ |}
(TYP. @ ¥ HEAD}
JAMB) [

1X BUCK

DIRECTTO
MASONRY

n
(8]
<
D
b
—
<
=
o
(X% ]
o

FRAME ANCHORING

Lw 7.5" (TYP.)

2
'3}
2 §. 88
LM ]
U m .‘EEBNQ
< =]
‘s TN
Mg U2
Eo@ 52 )
<29 S uj
fseas Qo
a>§§g o
B2 53
QUN;&.CPLE
53%2es
EL—OOU
g 2=t 0y g
n_mn_n.mﬁ _g
2 g%g 3
c Ty
H o g
TR
I
O
O
[a]
)
=
vy v
Lt ad
x =T
L o TS
A < V=
) g o
(=] o o>
© 0 =
© w =
< g
e [
la 14
3 S
o b
0. a
2=
o 3]
N
)
N
N
g bd
] I
U’) e
ol 2
3| 2
2l
[
=
()
o
3
L}
S
<S
<
-l
=
DATE: 12/05/12
SCME: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FlL—160982.5

SHEET 4 oF &

RAA - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Horizontal Skider\FL-16092.1-.6.dwg, 4.5

© 2012 R.W. BUILDING CONSULTANTS INE.



.. S ” ry
392 - = ! i g2 8 ig
I{ \ —::——:.—5.{:::——:..-({"‘:; - g g L h 2
208 — | T LR ENE:
—_— = . DG
- ] 0.08" EER AN
. - CES:E (o] (v g cmgs 2
) 203 5 uj
7 T U .1 AF36 (1-1/2" Brick Mould) 5 ;,,8 N
_ m-m e g =
o, y 3 B L 2 I ; m 530 85w 2
o - 0.07" ——mme] et i 2 ¥ o~ p ; o , @ 588.a8y E
~=—0.07 o~ o ! = i i 7 xS - g[‘i\ g
= o () T -/ BZd, o NyL
Seddl T T 5§ 205N
LG, T 0 55088
— - o = (e S= U ESHIE
. == @ LI 5
SLIDER PULL STILE LOCK STILE E @< rd
@mms 3
a]

AF5¢ (Masonry Range 1) V672 [Masonry Flange 2)

OPTIONAL COSMETIC FLANGES

= m ¥

1.42" 9 " = &

- 4..‘ ._._ 0.34 A 5

i1 = D % %

—-—19 s U D E— g L 1.37° -—1 S |3 3
= : 0.08" S @ %
[ __[:'.“ 0 . ' o . <
| L3 pud I - T T 5 s
& — ] | 007" : =S =
U 0 0 1 . ﬁ o ) o2 e K¢
L‘L . % % 0.3 o o

l I S 135 3 J .

< /M

]—*——*m 0.7
KEEPER STILE GLAZING BEAD @ SLIDER COMMON RAIL
SILL TRACK () HEAD TRACK
6" Long

T

N
o
Full width
Ul wi g
g 2
. Nl o
P~ Al 1€
e 121" ] w| 2
= Ly
1 Sl
1.24"
B i - : L } * =
> 3 3 Ty L 3 T T | N 2
— o < . o < ~ (o
S — = — =
2 ] = . X /J - 0.05" J O
s _ S g ] 2l
Bl 1% 3 Sep 1 ) s
t 2 = EQ aE 0.08" —= = ] = 0.08" RIS
} 1 i - 067" il
3 ~ O
[ =
FLANKER STOP
REINFORCEMENT @w REINFORCEMENT SLIDER SASH RETAINING CLIP .—‘ DATE: 12,/05/12
Common Rai tock stile Keeper and Pull Stile 17 scAle:  N.T.S.
DWG, BY: JK
CHK. BY: LFS
DRAWING NOD.:
FL—16092.5

SHEET 5 ofF 6

R\ - Projects\Project Folders\Proj 1601 - L700\PF 1679\Horizontal Slider\FL-16092.1-.6.dwg, 5.5

© 2012 R.W. BUILDING DONSULTANTS ING.



RMA - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Horizontal Slider\FL-16092.1-.6.dwg, 6.5

BILL OF MATERIALS
TEM # DESCRIPTION MATERIAL

A |TXBUCKSG >=0.42 WOOD
B | 2XBUCKSG >=0.42 WOOD
C | 1/4"MAX. SHIM SPACE 3

D | 1/4"X 2-3/4" PFH ELCO OR TW CONCRETE SCREW STEEL
£ |MASONRY -3,192 PSI MIN, CONCRETE CONFORMING TO ACI | o\ crete

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F [ #10 X3 PPH WOOD SCREW STEEL
G | #10X1-3/4" PPH WOOD SCREW STEEL
H |#10X2-1/2° PPH WOOD SCREW STEEL
J [174X 2-1/4 TTW CONCRETE SCREW STEEL
K |1/4"X 3-1/4' TW CONCRETE SCREW STEEL
L | 1/4"X 3-3/4 TW CONCRETE SCREW STEEL
1 | FRAME* PVC
2 | SUDER PULL STILE* PVC
3 | LOCK STILE* PVC
4 | KEEPER STILE* PVC
5 | GLAIING BEAD* PVC
6 | SLIDER COMMON RAIL* PVC
7 | BALL BEARING ROLLER -

8 | WEATHERSIRIP [0.230') .

9 | WEATHERSTRIP (0.380') -

11 | SILLTRACK ALUM
12 |HEAD TRACK ALUM
14 | SLIDE RAIL REINFORCEMENT ALUM
15 | REINFORCEMENT ALUM
16 | REINFORCEMENT ALUM
17 | SLIDER SASH RETAINING CLIP ALUM
18 | #8 X 1" PFH SMS STEEL
19 | FLANKER STOP NYLON
22 | #8 X 5/8" [#& head) PFH SMS STEEL

* THE APPROVED WHITE RIGID PVC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE PRODUCED BY

EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR RIGID PVC EXTRUSIONS",

1/2" GLASS - NOVAFLEX M400
BlTE A’ ——— 1" THICK GLASS
£ 1/8" ANNEALED
I:I 0.090" SAFLEX® PVB INTERLAYER

1/8" ANNEALED
AIR SPACE

Pai

1/8" ANNEALED
INTERCEPT SPACER

C:) GLAIING DETAIL

2 GLASS NOVAFLEX M400
BITE —— 1"THICK GLASS
== 1/8" ANNEALED

D 0.090" SAFLEX® PVB INTERLAYER
~‘~"=:
\ 178" ANNEALED
\ AIR SPACE
1/8" TEMPERED
INTERCEPT SPACER
GLAZING DETAIL
1/2" GLASS SIKA 552
BITE 1" THICK GLASS
] 1/8" ANNEALED
D 0.090" DUPONT SENTRYGLAS® INTERLAYER
"-:

E/ 8" ANNEALED

AIR SPACE
1/8" TEMPERED
INTERCEPT SPACER

GLAIING DETAH.

//,,

\t
L]
8 ¢ N
[
n UnN
- v N
gn 523
el 'mm
E 3]
3 €
.
e g
Eo? 52
 ua C
L B
J59 w2
7]
n>N ey
Z 0w ot
gn- t
E S N S
m 3 el
O x2 w3
D > a C
ﬂamﬂ-ou-
g Y .c o
O.—ODD
2 2L 0 g
S moa @+
o 3
2 §~82~E
C Tt
o ]
=]
0
Q
a

Lyndon F. Sechrmidt, P.E. No. 43409

8800 SERIES
BILL OF MATERIALS

& GLAZING DETAILS

PART OR ASSEMBLY:

PRODUCT:

LFS
Y

4/04/13 |UPDATE FRAME SIZE/DP/GLZ

REVISIONS

1

e
<
a
o
z
2

oaTE: 12/05/1

SCALE: N,T.S,

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—-16092.5

SHEET 6 oF 6

© 2012 R.W. BUILDING CONBULTANTS INC.



